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PART A — (20 x 1 = 20 marks)

Choose the Correct answer.

1. In the words, “Public Administration” Public
denotes

(a) Government (b) People (c) Private (d) None of
these

“Public Administration” ererrm eurrgenguie “Public”
eTeTLIGET Ol LIm(merT
(1) Spsmisbd (<) a6 (@) geflwumT (FF) Geameu
SEAIIEN Y

2. Who is the father of Public Administration?
(a) L.D. White (b) Bernard (c) Gnilick (d) Woodrow
Willson
Qug BiTeunssdler shang wmi?

(=) LD. i (<) Guiemi® (&) Hwu,els
(/) o G edlevgen

3.  Who said “Organisation is the from of every
human association for the attainment of common
purpose”?

(a) Mooney (b) L.D. white (c) Simon (d) Guilick



‘el eramug QuTg CrTEEEmE DML USDESTSE
Ren @aanhs walsT @pCeu” erem g plweu wmr?

(=1) wafl (<) L.D. uil (§) egwer (i) Euyedls

The Reserve bank of Indian is a

(a) Corporation (b) Company (c) Department
(d) All of these

@BEW enow euTEIEwTeng) e
(=) spsd () Speed  (Q)  sop

(r7) @ ameuwienETSEID
Who said “Communication as the blood stream of

an Administrative organisation”?

(a) Millet (b) Peter Drucker (c) Bernard (d) None of
these

Qaugl QarLim erarLg @ BlTeurs ewliber Qrs5s
el LD erar efleuflGgeurm wimi?

(=) Wl (=) SiLm wrest () Curemmi(
(rF) @euraeT wWmHLileena

The Article entitled "The study of Administration"
published by

(a) Woodrow Willson (b) L.D.White
(c) F.J. Goodnow (d) None of these.
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“Blireurs  piey” et SaelndlL sl (e
QeuafludlLeur

(=) 2L Cpreflevgan (<=,) L.D. euill” (@) F.J. gL Cemmeu
(rr) @eurtseT wrmLilebena

"Illumination experiment" was associated with

(a) Classical Theory (b) Behavioural theory

(¢) Human Relation Theory (d) Psychological
theory

“eafl 2 181 Cangener” QMg

(=) wry Cariuur® (<) BLES®F CamHirum
(@) weflyz 2me] Csr@Euur® (r) 2 emeflwed
Cam_Huum

The ultimate authority over the Public Finance in
India is

(a) The Parliament (b) The Finance Ministry
(¢) The Public Accounts committee (d) Estimate
committee.

@QidHwureley Qurg HHuler S5 @QmE Ssrrbd
Q& meuTiq(HLILIG)

(1) umpmepLoeTmLDd (<) Bldlwennsssid (§) Cungiseamrés
W (m) wIISL6 G

Which one of the following is the means of
organisational control?

(a) Physical control (b) Material sanction (c)
Symbolic Sanction (d) All of these.
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10.

11.

12.

EpsarLeupmer oty Smwlilemear  sLHUBSHID
&(Hedl ?
(o) wnire eyl (=) Gurmer culdl Fer_aner

(©) 2-erallwicd HeRTLanen (FF) @) e aETSEILD

Three stage of decision making process was
suggested by

(a) Herbert Simon (b) Follet (c) Garner (d) Riggs

PGt sl WiyLeuBsse QEwmpeanmeni
euLpmISlweuT

(1) ermuil engwerr (<) CurCel (@) srrerT
() Méeiv

Fill In the Blanks:

In the word "POSPCORB" the letter "P" stands for

“POSPCORB” erenm euriigengufles “P” erenm er(psdlenn

Quimmerr

The term hierarchy means the control of the
higher over the

Uighleney ererugen Qummer o wiriglefuier @ muCumm

ugedlufled @muGureny
S (HUL(HSFIeUSTEGLD.
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13.

14.

15.

16.

17.

18.

The Biggest organisation in the Government is
the

SITFTERIGESS D WOasGufw SiemoLIL CTGUTLIZ)

The biggest representative institution in India in
the

@ndwmeiley 2 arer WslGuMw Wrdlbldlsgien ey

The situational leadership approach was first
emerged in

Gl s AaEGL®n (WP e Csmemmlw
BT(h .

Say True or False:

The discipline public Administration was original
in England.

Qumg Hliteunsellwie @ridloba ComeamlugTELd.

"Introduction to the study of  Public
Administration" was written by Guilick.

“Qurg HlTeunssms Ligss @i HHAPHD” cTemm HIena
&luyells er(pdleummir.

According to mooney "Co-ordination is the first
principles of organisation".

gpafluden  smsSgILiLg  “@rrdamariy’  aearuCs
Sjenwliben (psed CaHLILITEH 4G L.
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19.

20.

21.

22.

23.

24.

The office of the Comptroller and Auditor General
of India is an Independent organisation.

@B saurs@ LOHNID SaflEms HWIEUDT HIEIWED
&SHSTLOMET DenLILITGLD.
Secretariat is a staff agency.

Qeusd eff < Camsamen CFwWe <y ELb.
PART B — (5 x 7 = 35 marks)

Answer any FIVE questions each in 300 words.

Explain Integral view of Public Administration.
Qumg Hliteunsgslen ephidlameanhs LMTHe (LPENMHEL
oNleTE G5

Write the significance of "Purpose" based
organisation.

Caaneu SllgLiuenLudevmer Sienwliben
G eTHIIEHLOWITENLOENUI 6T(LPFIS.

Write the hierarchical structure of the
Government departments.

SITFTRIGSSImDUIET L Hlenay Sjenlolientl 6T(LgIs.
What are the steps in the Simon's decision making
model?

agoaier (PlgLeu(Bdse wrHfufed o drer UG HeT
wmened?
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25. Explain the charismatic style of leadership.

L&LEmhE Senaento Licwrilen omrdlflenw aflems@s.

26. Why organisational control is needed?
Sienwliy sLHLur®h erer Caeneuwirdmg)?

27. Write a short note on the positive aspects of
conflict.
wpramur@sefler  Crproepwurer  elgmsamer LHD
Fmi@miy eueamrs.

PART C — (3 x 15 = 45 marks)
Answer any THREE questions each in 1,500 words.

28. (a) Describe Nature, meaning and scope of
Public Administration.
Qurg Blireursalwieien semento, GLITHET, cTebEne
< Hlweupenmis LHml edleur.
Or
(b) Write a Detailed note on the Growth and
Development of Public Administration.
Qurg Blreurss e cUeTTES LODHMILD
Cuoburlgenar’s updl ellfleurer @i euanrs.
29. (a) Elaborate the findings of Hawthrone
experiment.
anmeusGrmen <y, u1edlen sevr(HLig LiLjsaner afleul.
Or
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30.

(b)

()

(b)

Discuss why the Independent Regulatory
commissions are called Islands of Autonomy.

SSHSTOTET  (PBIGIPED  AENETWIBISET I
sl &8 Sajser erar  J@PSSLILIHE e
eremLieng efleums).

Examine Simon's concept Bounded
Rationality in Decision making.

HFLOGITI 6T Wiy Ceuphssen pepmulled
aumrumssLULL i bei(Hssedld 2 Girer
SiMlejLemeni 16| ClFws.

Or

Elaborate the various stages of
organisational growth.
Sjenwolilen  euerfluldler LOCeum UG SaTL

umml eNeurl.
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